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3/18/2021
An oil drop of radius 2 mm with a densit}f 3 g cm 3 is held stationary under a constant

electric field 3.55 ¥ 10° V m ! in the Millikan’s oil drnp experiment. What is the number of

excess electrons that the oil drop will possess ?

Consider g=9.81 m/s”
Options :

w 10
86435115121, 172 %10

i 10
86435115122, 17310

= 12
86435115123, 170 %10

11
86435115124, 8-8x10

Question Number : 1 Question Id : 8643515041 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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(=981 m/s?)
Options :

rd 10
86435115121, 170 %10

e 10
86435115122, 1-73*10

= 12
86435115123, 172 > 10

11
86435115124, 25810

Question Number : 2 Question Id : 8643515042 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A constant power delivering machine has towed a box, which was initially at rest, along a
horizontal straight line. The distance moved by the box in time ‘' is proportional to :
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Options :

86435115125, ©/2
{1/2

86435115126.
2/3

86435115127, 1
86435115128.
Question Number : 2 Question Id : 8643515042 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
‘ 2 caTrO8Y nerEhinE” ol
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Eendr Do
c.msﬁ;ﬁf,: Cho(so I

€O
Options :
86435115125.

86435115126.
86435115127.

86435115128.
Question Number : 3 Question Id : 8643515043 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3/92



3/18/2021

Four identical long solenoids A, B, C and D are connected to each other as shown in the
figure. If the magnetic field at the center of A is 3 T, the field at the center of C would be :
(Assume that the magnetic field is confined with in the volume of respective solenoid).

B
A W
->—"000000" 7000000

D

Options :

86435115129, 1 1

86435115130. oh

86435115131. 3

86435115132. o

Question Number : 3 Question Id : 8643515043 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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86435115129, 1 1

86435115130. 24

86435115131, © T

"
86435115132. e

Question Number : 4 Question Id : 8643515044 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The P-V diagram of a diatomic ideal gas system going under cyclic process as shown in

figure. The work done during an adiabatic process CD is (use y=1.4):

A D
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Options :

400 |
86435115133.

86435115134, °00]

86435115135, 200 ]

0]
86435115136.

5/92



3/18/2021

Question Number : 4 Question Id : 8643515044 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
86435115133. i
86435115134. 500 ]

86435115135, 200 ]

86435115136.

Question Number : 5 Question Id : 8643515045 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The position, velocity and acceleration of a particle moving with a constant acceleration can
be represented by :

Options :
86435115137.
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Question Number : 5 Question Id : 8643515045 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 8643515046 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An AC source rated 220 V, 50 Hz is connected to a resistor. The time taken by the current to
change from its maximum to the rms value is :
Options :
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86435115141, =2 ™S

86435115142.

86435115143, 0-20 ms

86435115144, 22 S

Question Number : 6 Question Id : 8643515046 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
220 V58050 50 Hz 8806 fo 2.8 AC2585m0% a8 I8 E5nssh 005, 105 Dendbod

E a -
rms el PR VDS (DPEn Srddd Dep Hshahidn :

Options :

86435115141, = ™S

86435115142, 2> ™S

86435115143, 025 ms

86435115144, 22 S

Question Number : 7 Question Id : 8643515047 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In Young's double slit arrangement, slits are separated by a gap of 0.5 mm, and the screen is

placed al a distance of 0.5 m from them. The distance between the first and the third hright

fringe formed when the slits are illuminated by a monochromatic light of 5890 Ais
Options :
12

86435115145, 1178107 = m

86435115146, 2890 =107 " m

-- 0
86435115147, 1178107 " m
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1178 x 10~ ® m
86435115148.

Question Number : 7 Question Id : 8643515047 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a8 choh & WOE |HTrrisnd® DO8ew 0.5 mm Grdorr eTmon B 8% VOBe0d

0.5 m &rdod® Gob. DOSw 5890 A S8or@%isn SOAS 8 &Y ro88° (F2d08 TNTB.

QoS JINSL HBA SHEED Jenid Wfﬂ;‘ib eI s,
Options :
12

86435115145, 1178107 " m

86435115146, 2890 =107 " m

-- L
86435115147, 1178107 " m

1178 x 10~ ¢ m
86435115148.

Question Number : 8 Question Id : 8643515048 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle is travelling 4 times as fast as an electron. Assuming the ratio of de-Broglie
wavelength of a particle to that of electron is 2 : 1, the mass of the particle is :
Options :

86435115149, O times the mass of e

1
— times the mass of e
86435115150, 16

86435115151. 16 times the mass of e

3 times the mass of e
86435115152.

Question Number : 8 Question Id : 8643515048 Question Type : MCQ Option Shuffling : Yes Is
10/92
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

QO Sod Treoih Bén SHS0E® 2.8 Soadn (HOTPBBNG. Beesy B dolgrde & (@i

e“ﬁr:ﬁur@ (o a8 2:1 ©and 56 (Ssgoee:

Options :
e” (Zo~35 8 Béy
86435115149.
Gayoeds LB&JJ
86435115150.
ZayordS 16 Déw
86435115151, © BT >
& |
e” |(Bagoeas 3 Oéw
86435115152. '

Question Number : 9 Question Id : 8643515049 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time period of a simple pendulum is given by T = zqr\fz. The measured value of the

iength of pendulum is 10 em known toa 1 mm accuracy. The time for 200 oscillations of the

pendulum is found to be 100 second using a clock of 1 s resolution. The percentage accuracy

in the determination of ‘g’ using this pendulum is “x’. The value of “x" to the nearest integer

is,

Options :

2%
86435115153.

3 %
86435115154.

-

86435115155.

o

86435115156. 2
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Question Number : 9 Question Id : 8643515049 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2.5 oo e’y Som 3% o T= 27 [—. 1mm S E50E ol ool KD

10 cm, 1 sec ;”:i;f:ﬁéﬁ&:&a”m Hey KECSTE50nE 200 S aograb o'LEL::J ;

T

EéL;ufué:sﬁE?J P8y FEm0 ¥ v X Deod Jrros Doy DebDdore,
Options
2%
86435115153.
3 %
86435115154.
-
86435115155.

o/

5%
86435115156.

Question Number : 10 Question Id : 8643515050 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Imagine that the electron in a hydrogen atom is replaced by a muon (). The mass of muon
particle is 207 times that of an electron and charge is equal to the charge of an electron. The

ionization potential of this h}-’dmgen atom will be :

Options :

86435115157, 100 €V
86435115158, 27-2 eV
86435115159, 2012 €V
86435115160, 5122 eV

Question Number : 10 Question Id : 8643515050 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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TFETRS H5Sre0HSt DO Sy () & S8, Tl Bns) ecHAEsn
Qod? HreS (908 e (BiTed 207 Teprmid, DEEERIIND TRES e” w3LHoss
HErdorrdy BHEH5m

Options :
86435115157, 100 eV

86435115158, 2/-2 eV

86435115159, Jo1-2 eV
2815.2 &V

86435115160.
Question Number : 11 Question Id : 8643515051 Question Type : MCQ Option Shuffling : Yes Is

Correct Marks : 4 Wrong Marks : 1

Question Mandatory : No
A radioactive sample disintegrates via two independent decay processes having half lives
respectively. The effective half-life, TI’E of the nuclei is :

i) (2)
T}:’ and Tl_,
A£2 F2

Options :
| (
TT F

86435115161.

86435115162.

86435115163.
None of the abowve
13/92

86435115164.
Question Number : 11 Question Id : 8643515051 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
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Options :

1) 1
= o
86435115161, 7
' 1
T, =T, T
86435115162, /2 72
BT
N /2
le - D _ {0
1/ 1/
86435115163, 2 /2
86435115164.

Question Number : 12 Question Id : 8643515052 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A loop of flexible wire of irregular shape carrying current is placed in an external magnetic
field. Identify the effect of the field on the wire.

Options :

26435115165 shape of the loop remains unchanged

86435115166 loop assumes circular shape with its plane normal to the field

26435115167 loop assumes circular shape with its plane parallel to the field

86435115168 wire gets stretched to become straight

Question Number : 12 Question Id : 8643515052 Question Type : MCQ Option Shuffling : Yes Is
14/92
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

&8 (B58IrE wsebhnife S8 (flexible) Ko 8K &%) (loop) & Dy

0TS é@'m“ &° Godaliob. & %@5 |Seraisin HBothiin.

[ el
Options :

86435115165, %) LS00 PG

g¥ SosnsdH womore &25) Do) eselEnd Sroid

86435115166.

:'f';?lﬁ St Shrodlorr i) Mol esetEnd Srotidb
86435115167.

&1 Frbchad ewerHrr SarsiHd
86435115168.

Question Number : 13 Question Id : 8643515053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the experiment of Ohm’s law, a potential difference of 5.0 V is applied across the end of a
conductor of length 10.0 cm and diameter of 5.00 mm. The measured current in the conductor
is 200 A. The maximum permissible percentage error in the resistivity of the conductor is :

Options :

86435115169, -9
86435115170.

86435115171.

86435115172,

Question Number : 13 Question Id : 8643515053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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ux,

10.0 cm &) 65 5.00 mm S0 SOND a8 TEEDH DIEE® 5.0V FAYHS Foeid

a8 &5 Aok (HBAPRSNE” oiNfolsrd. vand wrlS® Folal s (Dardrd Deod

86435115169, -9

86435115170, '

86435115171, 5+4

86435115172. 3.0

Question Number : 14 Question Id : 8643515054 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time period of a satellite in a circular orbit of radius R is T. The period of another satellite

in a circular orbit of radius 9R is :
Options :

86435115173, 5 ¢

86435115174.

86435115175. 27T

1271
86435115176.

Question Number : 14 Question Id : 8643515054 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

é}tém re a8 hold 88 ﬁﬂ'“p.l &N EloTedds o T vond H8° aded IR

59.:_,: ool 25 bb'aﬁ'“ﬁj P OToS s S

Optlons :
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86435115173, ° ¢

86435115174.

86435115175. 27 T

1271
86435115176.

Question Number : 15 Question Id : 8643515055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a series LCR resonance circuit, if we change the resistance only, from a lower to higher

value :
Options :
86435115177. The resonance frequency will increase

36435115178, The bandwidth of resonance circuit will increase

86435115179. The quality factor will increase

The quality factor and the resonance frequency will remain constant
86435115180.

Question Number : 15 Question Id : 8643515055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_l:l = & i-\.I:'\ oy L oy ad o wf O

2.8 LCR (3 edard Sechind® 288550 S0)S dend ol BN Jendd eSS
Options :

an D L1 o =,
26435115177, DT TR DD

OHTE Jeddhy I Ikey) HIDD
86435115178.

foeared) SeESn oo
86435115179. =
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86435115180. E

Question Number : 16 Question Id : 8643515056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Your friend is having eve sight problem. She is not able to see clearly a distant uniform

window mesh and it appears to her as non-uniform and distorted. The doctor diagnosed the
problem as :

Options :

86435115181, - MY OPA Sn ypeTmemOpEa

86435115182, I resbyopia with Astigmatism

86435115183, * Stigmatism

86435115184, Myopia with Astigmatism

Question Number : 16 Question Id : 8643515056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Do Dighoren® K SFD50H. 8D Erdorr ¢f) BBE ) = Hjor SrETE Pt
sHoae O OB B wsl DB 1KHIN0L. wand ToED H0EE° eBBH S Sy
&otn) 8056 :
Options :

S G SO EFEEY
86435115181.

ST SO VPR

86435115182.
o B

86435115183. ity

ey &y
86435115184, L
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Question Number : 17 Question Id : 8643515057 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will be the average value of energy along one degree of freedom for an ideal gas in
thermal equilibrium at a temperature T ? (kj is Boltzmann constant)

Options :

kT
86435115185,

1
86435115186,

3
86435115187,

2
86435115188,

Question Number : 17 Question Id : 8643515057 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T &K 38 &8 SHTRBS” &) a8 el Traing G o8 &¥ F@ody DB &°D Sriew
5] Q (] G o
=] alf L ad : = e
F8 ? (kg0 S ep)hn woroShn)
= B Gl
Options :

kg T
86435115185.

1
86435115186,

3
86435115187,

2
86435115188,

19/92



3/18/2021

Question Number : 18 Question Id : 8643515058 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 1L

List - 1 List - 11
(a) 10 km height over earth’s surface (i)  Thermosphere
(b) 70 km height over earth’s surface (ii) Mesosphere
(c) 180 km height over earth’s surface (iify Stratosphere
(d) 270 km height over earth’s surface (iv) Troposphere
Options :
seassi1s1go. @) (D)), ©-Gi), (d)-6)
wesis115100, @), ()i, (©-), @-Gv)

86435115191, @ (1), (B)=(1), (c)-(iv), (d)-(iii)

26435115192, (@F(1), ()-(iv), (c)-(ii), (d)-(ii)

Question Number : 18 Question Id : 8643515058 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0F -1 Hocin OF - Il o 238 B0H050

[+
o8 -1 o8 -1
[ [

(a) &P 638800 10 km J&) @) B Ranb
(b) & &38800 70km I (i) DoAYaHE
(c) & &58800n 180 km D& (i) | PesnaHE

a_ —0 [ g
(d) &b &38800 270 km d&) (iv) (ES°2nanb

Options :

s6435115189. @), (B)-(iid), (c)-(i), (d)-(i)

86435115100, 21D, (b)), (0)-(1), (d)-(iv)
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86435115191, @ (1), (B)=(0), (e)-(iv), (d)-(ii)

26435115192, @) (1), (0)-(iv), (c)-(ii), (d)-(ii)

Question Number : 19 Question Id : 8643515059 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A plane electromagnetic wave of frequency 100 MHz is travelling in vacuum along the

EE 5 A
x-direction. At a particular point in space and time, B = 2.0 x 10°® k T. (where, k is unit

vector along z-direction) What is E at this point ?
(speed of light c=3x 10° m/s)
Options :

06 j V/m
86435115193.

86435115194, -0 1 V/m

6.0 k V/m
86435115195.

86435115196, 0 K V/m

Question Number : 19 Question Id : 8643515059 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Er08” x-68m e.8 100 MHz a%"‘ﬁ@,%ﬂa’m e Dibde E}{foé{ﬁuﬁaéﬁ_,;ué' SBorisn [RDaraidh.

n i o 4 A A - # 2

S¥osnd® a8 HothH) S8 B = 20x 1079k T. ( k ©d5d z-038° Hoires H6F) vond
.—}

8 Doth) S E ?

(P08 ik c=3x10° m/s)

06 j V/m
86435115193
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86435115194, -0 1 V/m

6.0 k V/m
86435115195,

86435115196, 0 K V/m

Question Number : 20 Question Id : 8643515060 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A thin circular ring of mass M and radius r is rotating about its axis with an angular speed w.
Two particles having mass m each are now attached at diametrically opposite points. The

angular speed of the ring will become :

Options :
M
P
M+ m
86435115197.
MW
n M+ Zm
86435115198, =
M= 2m
. M+ 2m
86435115199. -
M+ 2m
wy —
86435115200. M

Question Number : 20 Question Id : 8643515060 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a8 5 MoEd soridsm, (B M Hodin TxReddn rEdh God, ool efin Hip o
S =
S e £ i 1=}
BSach A8 LB BP0, T FegRrSoed” ad)c m(ETed Ko Doth Swdned eofo

,;L
Ll
5
h

DT, wand Goiss) Go¥) BRadh &

Options :

22/92



3/18/2021

[\l
. M+ m
86435115197.
M
Ky —————
M+ Zm
86435115198.
M —2m
=
M 4+ 2m
86435115199.
M+ 2m
By ———
86435115200, s

Physics Section B

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 21 Question Id : 8643515061 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

864351338
2

Online
Mandatory
10

5

20

Yes

1
864351338
Yes

An npn transistor operates as a common emitter amplifier with a power gain of 10° The

input circuit resistance is 100 £} and the output load resistance is 10 k{}. The common emitter

current gain ‘B’ will be __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

- (Round off to the Nearest Integer)
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Question Number : 21 Question Id : 8643515061 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2% npn (g7 :::5 D 8 - A8 BoPHE DerHodt HATowod SEOT ot SHE 100,
: )&

o DIEHechH DS ESD 100 ) SB8a50 8L HE DS 10k ©ond oSS -a5eb

0

(08 SHEM JrTros Do H:R800R)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643515062 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A ball of mass 10 kg moving with a velocity : 1[],'.@ m/s along the x-axis, hits another ball of

mass 20 kg which is at rest. After the collision, first ball comes to rest while the second ball
disintegrates into two equal pieces. One piece starts moving along y-axis with a speed of

10 m/s. The second piece starts moving at an angle of 30" with respect to the x-axis.
The velocity of the ball moving at 30° with x-axis is x m/s.
The configuration of pieces after collision is shown in the figure below.

The value of x to the nearest ﬁ'lteger is

Y- axis t piece 1

11=10m/s
\KF X - axis
vz

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 22 Question Id : 8643515062 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10 kg (Baygoe2 Mo a8 208 .Iﬂuﬁ m/ s 3K0& x-B8rF ™ 38) $508° Qizrod ?3—5%:5“ 55) 20 kg 2008

& BPE56. @dirdasn dued Jndd 208 ;:]o‘{'_.-ﬂi"": &0008. =) Tods 208 Both a”mé{;e:om

[ o
DEFEH08. wothHS® a8 Sud) y-88mr 10m/s JKS0E (HAPDRo8. 1-0E508H 30° Sndn
T ol Sw¥) xm/s Sh50& (Baied Y x Dend . @fPHréSn SoE oo

¥ axis Piece 1

71=10m/s
\Kr X - axis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643515063 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The voltage across the 10 (} resistor in the given circuit is x volt.

50 )
—VVW\ MAN——r
00 20 Q)
y
170V ¢

| ! -
The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643515063 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643515064 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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As shown in the figure, a particle of mass 10 kg is placed at a point A. When the particle is
slightly displaced to its right, it starts moving and reaches the point B. The speed of the

particle at B is x m/s.
(Take g=10 m/s?)
The value of “x’ to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643515064 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643515065 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particle performs simple harmonic motion with a period of 2 second. The time taken by

the particle to cover a displacement equal to half of its amplitude from the mean position is
3

— 8.
d

The value of ‘a’ to the nearest integer is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643515065 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 s EOTEGS O o8 Endn S8 FordE Sossn 55

[ L.
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643515066 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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C=3uF 5 M(}

| —WWW—
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The circuit shown in the figure consists of a charged capacitor of capacity 3 pF and a charge
of 30 pC. At time t=0, when the key is closed, the value of current flowing through the
5 M} resistor is ‘x" pA.

The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643515066 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C=3uF  5MQ
| |
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q=30 uC

N
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 27 Question Id : 8643515067 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A person is swimming with a speed of 10 m/s at an angle of 120° with the flow and reaches

to a point directly opposite on the other side of the river. The speed of the flow is ‘x" m/s.
The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643515067 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

26 (Paese HED 120° SPeaion 3&3 2.8 e 10m/s SR N @ $OH3Y Doootr.
|Daesey) S& x' m/s @ond ‘¥ Dend

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643515068 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two separate wires A and B are stretched by 2 mm and 4 mm respectively, when they are

subjected to a force of 2 N. Assume that both the wires are made up of same material and

the radius of wire B is 4 times that of the radius of wire A. The length of the wires A and B
: : a 1 _

are in the ratio of a : b. Then p can be expressed as N where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 28 Question Id : 8643515068 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643515069 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A parallel plate capacitor has plate area 100 m> and plate separation of 10 m. The space
between the plates is filled up to a thickness 5 m with a material of dielectric constant of 10.

The resultant capacitance of the system is “x" pF.
The value of £5=8.85x10"12 F.m !
The value of “x’ to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643515069 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643515070 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A bullet of mass 0.1 kg is fired on a wooden block to pierce through it, but it stops after
moving a distance of 50 cm into it. If the velocity of bullet before hitting the wood is

10m/ s and it slows down with uniform deceleration, then the magnitude of effective retarding
force on the bullet is “x" N.

The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643515070 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
0.1 kg enBeSido a8 BE) OIS FXHFR Gheoty DD Fong 50 cm ErdEn 38) &4%e

TJ

wfP&Hol. HIPS TF8inotd wBE Idw 10 m/s wan God B e Besns” Wl

SHi50:%0 €750 BRHOWEAIGERE IS, (DerardS averd)S &l aosin ‘X' N.
@wond ‘X Dens . (08 SNBre JrTros Hoggth HN80NN)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Chemistry Section A
Section Id : 864351339
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351339
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643515071 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a binary compound, atoms of element A form a hcp structure and those of element M
occupy 2/3 of the tetrahedral voids of the hcp structure. The formula of the binary compound
is :

Options :

I"»-‘I-;.:‘J-"L;
86435115211. e

M, A
86435115212, 473

86435115213, MA3

86435115214, MaA

Question Number : 31 Question Id : 8643515071 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

a8 B wﬁﬁék“ﬁamﬁ“ A Qross) DoSreder hep ARy SOAGoeran. M Srossy

HESrenHen 2/35 Sod BErirEd Sogred aEhohdotran. B8
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Options :
M-,A
86435115211, = 3

86435115212. :

86435115213, MA3

86435115214, MaA

Question Number : 32 Question Id : 8643515072 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A certain orbital has no angular nodes and two radial nodes. The orbital is :

Options :
86435115215.

I~
wn

86435115216, —
86435115217.

86435115218, T

Question Number : 32 Question Id : 8643515072 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Bdh TES Heren &oXYH HHBA Both

s = F &b b
= “Qul_‘-é?@ 0 =)
)

8 ers :
Options :
86435115215.

86435115216.

86435115217.

86435115218.

e,

G
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Question Number : 33 Question Id : 8643515073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List - 1 List - 11
(Process) (Catalyst)
(a) Deacon’s process (i) ZSM-5
(b) Contact process (i) Cull,
(c) Cracking of hydrocarbons (ii) Particles ‘N
(d) Hydrogenation of vegetable oils (iv) V,0c

Choose the most appropriate answer from the options given below :
Options :

s6435115290, @-(¥), (D)-(id), (©)-), (d)-(ii)
s64351150p1 @-(i), (0)-(0), ()-(iv), (d)-(ii)

86435115222, (@), (B)-(1v), (c}-(0), (d)-(iii)

Question Number : 33 Question Id : 8643515073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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(b) soer§ BES (i) CuCl,
(€) @“@?@ﬁﬂ, goessisin (i) NiZesmen (particles)
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Options :

86435115219, @)-(1), (b)-(iii), (c)-(ii), (d)-(iv)
26435115220 (@F(1), (b)-(ii), (c)-(1), (d)-(iii)
26435115221 (@)(i), (b)-(i), (c)-(iv), (d)-(ii)

86435115222, 2y (), (B)-(v), (c}-(0), (d)-(iii)

Question Number : 34 Question Id : 8643515074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The ionic radius of Na* ion is 1.02 A. The ionic radii (in A) of Mg?* and AI**, respectively,
are :

Options :

86435115223, 0-85 and 0.99

86435115224, 072 and 0.54

86435115225, 0-68 and 0.72

86435115226, 10> and 0.99
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Question Number : 34 Question Id : 8643515074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- P i 'j . e .
Nat edirs @nE ocirdE seeadrdsdn 1.02 A. Me?t 508050 APte edimcdE secdroren
{ o]
&g £ g

Options :
86435115223, -85 s00di0 0.99

Y LBy _
86435115224, 072 000 0.54

0 P .
86435115225, 0-68 =00 0.72

Lo gy
86435115226, 109 s000» 0.99

Question Number : 35 Question Id : 8643515075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The chemical that is added to reduce the melting point of the reaction mixture during the
extraction of aluminium is :

Options :
86435115227, bBauxite

86435115228, aolite

86435115229, alamine

86435115230, —ryolite

Question Number : 35 Question Id : 8643515075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I L prr Ay A S R (N e a3 Y WLV A SV AV JUGIPY M o S APV 2V
BOFLEOACD0 VS eed” oy Sb(EHD (BPHID ) SHoHLB Bend SIPdDSSD !
: o . = |

Options :

£PENES

86435115227. =
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86435115228, S 088 (Kaolite)

ey =5
86435115229, — =

E@BrBeS (Cryolite)
86435115230, = = ‘7

Question Number : 36 Question Id : 8643515076 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two Statements : One is labelled as Assertion A and the other is labelled as

Reason K :

Assertion A :  During the boiling of water having temporary hardness, Mg(HCO,), is
converted to MgCO,.

Reason R : The solubility product of Mg(OH), is greater than that of MgCO,.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
86435115231, Both A and R are true and R is the correct explanation of A

86435115232 Both A and R are true but R is NOT the correct expla_nation of A
86435115233, A is true but R is false

86435115234, A 1s false but R is true

Question Number : 36 Question Id : 8643515076 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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86435115232,
86435115233,

86435115234.

Question Number : 37 Question Id : 8643515077 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List - 1 List - 11
(a) Ca(OCl), (1) Antacid
1 ié
(b)y CasSO, - EHED (i) Cement
(c) CaO (iii) Bleach
(d) CaCO, (iv) Plaster of Paris

Choose the most appropriate answer from the options given below :
Options :

26435115235, @) (1), (B)-(tv), (c)-(iii), (d)-(ii)
26435115236, (@), (b)-(i1), (c)-(i), (d)-(iv)

86435115237, (@)-(i1), (b)-(ii), (c)~(iv), (d)-(i)
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86435115238, (@) (i), (b)-(iv), (c)-(i1), (d)-(i)

Question Number : 37 Question Id : 8643515077 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g - 115 eofae - 1 8° 2855550

il -1 wedlar - 11
(a) Ca(OCl), (i) dotrha
? i
(b)) CaSO, - HO (i) DHFos
(c) CaO (i) £S5
(d) CaCO, (iv) P86 o5 65

Options :
26435115235, @)F 1), (0)-(iv), (c)-(ii), (d)-(ii)

26435115236, (@) (L), (b)-(i1), (c)~(i), (d)-(iv)
86435115237, (a)-(iti), (b)~(ii), (c)-(iv), (d)-(i)

86435115238, @)-(iiL), (b)-(iv), (c)-(i1), (d)-(1)

Question Number : 38 Question Id : 8643515078 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The number of ionisable hydrogens present in the product obtained from a reaction of
phosphorus trichloride and phosphonic acid is :
Options :
86435115239, 1

86435115240, 2
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86435115241. 0

86435115242,

Question Number : 38 Question Id : 8643515078 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- =, B = - £ ME : N-Y-g¥q ., B o 1 B Y4 b A
FIHBD | BEBE S FREIE edpe Sy I8 =0ASHD AGES Edraed” &

g
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S aSe HSog
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©05HdE800 Iodkke
Options :
86435115239, 1

86435115240, 2

86435115241. 0

86435115242,

Question Number : 39 Question Id : 8643515079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List- 1 List - 11
(a) Chlorophyll (i) Ruthenium
(b) Vitamin - B, (ii) Platinum
(c) Anticancer drug (iii) Cobalt
(d) Grubbs catalyst (iv) Magnesium

Choose the most appropriate answer from the options given below :
Options :
86435115243. {a]—{ﬁij, {h]-{ii], {C]‘{h’]r {d]-{i]

26435115244, @)(1¥), (b)=(ii), (c)-(ii), (d)-(i)

s643511 5945, @-(9), ()G, (c)-(ii), (d)-(i)
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86435115246. (@)-(iv), (b)(iti), (c)-(i), (d)-(ii)

Question Number : 39 Question Id : 8643515079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dor - 11:5 o - 18 2858

o -1 i -l
(a) &6 (i) SBHAHo
(b) DL™S - By, (i) arSSo
(€ odsxid Hok (iii) %4“:':-::“:5
(d) D) e@BBssw (iv) Sofyhaho

Options :
s6435 115243, (@(i), (D)-(id), (O)-(iv), (d)-)

26435115244, @)F(1v), (b)-(iii), (c)-(ii), (d)-(1)
26435115245, @), (b)-(ii), (c)-(ii), (d)-(i)

86435115246. (@)-(iv), (b)-(iti), (c)-(1), (d)-(ii)

Question Number : 40 Question Id : 8643515080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct structures of trans-[NiBr,(PTh,), ] and meridonial-[Co(NH,),(NO,),], respectively,
are :

Options :
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86435115247. 3
0
PhaP B H,N 92 NoO,
Ni . 5 |
an
Br/ \I’Phg O;_N/ ILH\MI3
86435115248, 2
NO, .
th,l) \\ / Br 3\' | [\'02
/Ni\ and /Cl \
Br PPh H3N7 - Jpq. "NO;
86435115249, 3
NH
P£13P\ /Br O,N | 3 NH,
Ni CD/

86435115250.

Question Number : 40 Question Id : 8643515080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@Fﬁ':g:j -[NiBr,(PPh,),] &850 8EEIHS -[Co(NH,),;(NO,),] & $650sS JOR)ETPED tehsTe i

Options :

PhsP \ / Br . \ | /
phqp/ \Er (]2'\1/ | \NH3

86435115247.
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Mi Co
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7 \PPh3 o’ ILH\?\JIIS
86435115248. 5
NO,
PhyP Br 3N | NO,
N N
o B
P T N ‘LII\NOE
86435115249. B
NH
Ph3P\ /Br O,N | 3 NH,
Ni _—— \Cc-/
ele)
Ph313 \Bl' DEN/ PL]I\NEJE
86435115250. 3

Question Number : 41 Question Id : 8643515081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The statements that are TRUE :

(A) methane leads to both global warming and photochemical smog
(B) methane is generated from paddy fields
(C) methane is a stronger global warming gas than CO,
(D) methane is a part of reducing smog.
Choose the most appropriate answer from the options given below :
Options :
86435115251, (A) and (B) only

86435115252, (A (B), (C) only

86435115253, (B) (©), (D) only

86435115254, (&) (B). (D) only

Question Number : 41 Question Id : 8643515081 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

JOEHR DhdYesen :

(C) CO,%08 TS weFs griido JIEGEC (global warming) sPdind)
(D) EchEbe ) &° DS a8 gritsin
808 a)sres® wdiod BiISS amrand JSys°od.

Options :

86435115251.

Lo
86435115252 ) (B), (C) 2783

86435115253, (B), (O), (D) &&

A), (B), (D) $mg3
86435115254, O (B) (D) 27@

Question Number : 42 Question Id : 8643515082 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Compound with molecular formula C;H,O can show :
Options :

86435115255, Positional isomerism
86435115256, Functional group isomerism

86435115257, Metamerism

86435115258, Both positional isomerism and metamerism

Question Number : 42 Question Id : 8643515082 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

o FiRer GHO o $3ygdsn G (HHgowd: :

Options :

86435115255, @

86435115256, & ¢ SR

86435115257, 0eTs00esan

86435115258,

Question Number : 43 Question Id : 8643515083 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List - 1 List - 11
(Chemicals) (Use/Preparation/ Constituent)
(a) Alcoholic potassium hydroxide (i) electrodes in batteries
(b) Pd/BaSO, (ii) obtained by addition reaction
(c) BHC (Benzene hexachloride) (iii) used for p-elimination reaction
(d) Polyacetylene (iv) Lindlar’s Catalyst

Choose the most appropriate match :
Options :
86435115259, @), (b)-(1), (c)-(iv), (d)-(iii)

26435115260, (@) (ii), (b)-(), (c)-(iv), (d)-(i)
86435115061, @)D, (B)-(iv), (c)-(1), (d)-(iii)

26435115262, (@)-(iiD), (b)-(iv), (c)-(ii), (d)-(1)

Question Number : 43 Question Id : 8643515083 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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lae - 115 oo - 1 & 28583550

erloE -1 erdoE -

(BFrcharen) (&HBritdn fEairE feriio)
(a) wopFOE Frerhdbo TTEEEE @) wgded® J9EEw
(b) Pd/BaSO, (i) Sofed SEes Jrodsiy
(c) BHC (BodS r=) £°88) (i) P-odrHte IEH FHTGH
(d) PO HLOS (iv) Oogeb &@)sEm

Options :
86435115259, (@)r(i), (b)-(1), (c)~(iv), (d)-(iii)

26435115260, @)(iL), (b)-(), (c)-(iv), (d)-(ii)
86435115261, @)-(i), (b)-(iv), (c)-(i), (d)-(iii)

s6435115262. (@), (B)-(iv), (©)-Gi), (d)-(i)

Question Number : 44 Question Id : 8643515084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reaction of Grignard reagent, CP_HSMgBr with CSHSD followed by hydrolysis gives compound
“A” which reacts instantly with Lucas reagent to give compound B, C,,H;;CL

The Compound B is :
Options :
Cl

CH,

86435115263.
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CH,

86435115264,
Cl CH;
CH,
86435115265,
CH,
Cl
CH,
86435115266.

Question Number : 44 Question Id : 8643515084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

550 A, eorTen SEESD

Options :
el

CH,

86435115263.
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86435115264,
Cl CH;
CH,
86435115265,
CH,
Cl
CH,
86435115266.

Question Number : 45 Question Id : 8643515085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C=N
COOH
H-O H,O
o ] i ‘l'.k. n ]
H H*, A
(Major Product)
Consider the above chemical reaction and identify product “A” :
Options :
CH,NH,
86435115267.
CONH,
86435115268.
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C=N-0OH

86435115269.

CH,NO,

86435115270.

Question Number : 45 Question Id : 8643515085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

COOH

Jn’ﬁﬂ'

H:.m‘ﬂﬁ \Boyrasis;o) H 'l

.

2 BAPhS S8 58800, Bdireiio “A” O HBohaw ;

B 2 = 1_.,l B
Options :
CH,NH,
86435115267.
CONH,
86435115268.
§
C=N-0OH
86435115269.
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CH,NO,

86435115270.

Question Number : 46 Question Id : 8643515086 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hj
Alkaline KMnQj,
} JIKJ‘[‘
o
OCH;
Considering the above chemical reaction, identify the product “X" :
Options :
CH,OH
¥ &
JCH
86435115271. OCH;
COOH
¥ .
OCHj,
86435115272.
CHO
oo
OCH,
86435115273. £
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CHj,

OH
86435115274.

Question Number : 46 Question Id : 8643515086 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Alkaline I'-’.L:"u'Inl.f)_,L
H+

}_ o le!

D EreDS S8 D800, (Bairejo “X” o HBoHIw

Options
CH,OH
){ s
YCH
86435115271. OCH;
COOH
_){ —
OCHj,
86435115272.
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CHO

Xz
OCH;
86435115273 -
CH,
X -
OIH
86435115274,

Question Number : 47 Question Id : 8643515087 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
HLC CH
3 \\N P4 3

H;

NaNO,, HCl
[ & x I -}__ i Y.ﬂ.‘

273 K-278 K (Major Product) (Major Product)

Considering the above reaction, X and Y respectively are :

Options :
A Cl™ Na
. .CH
and O/ N~ 3
CH,4
86435115275.
Cl Nap
and ( j N
[:ij ' N\CH,

86435115276. CH,
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86435115277.

Cl

86435115278.

Question Number : 47 Question Id : 8643515087 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

H,C CHy

NN
NH,

NaNO,, HCI

IRV [
>

86435115275. CH,

86435115276.

: /

and \
CH;
CHj,

N f

*N —{: ::—N
and O/ \CH

3

e [Safraio) (s (Bodirasie)
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N5 Cl™ }}CI—I\g
NW@N\
asll 'E::l i,
S0BCw O/ CH;
86435115277.
Cl ,’CI I

Napn N
85 %
CH,4
86435115278

Question Number : 48 Question Id : 8643515088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List - 1 with List - 11 :

List - 1 List - 11
(Class of Drug) (Example)
(a) Antacid i) Novestrol

B

(b) Artificial Sweetener (ii) Cimetidine
(c) Antifertility (iii)  Valium
(d) Tranquilizers (iv) Alitame
Choose the most appropriate match :

Options :

seans11sp70. @), (B)-(¥), (©)-Gi), (d)-(i)

86435115280, @ (), (b)~(iv), (c)}-(1), (d)-(ii)
86435115281, @F(W), (b)-(1), (c)-(i), (d)-(iii)

86435115282, (@) (1), (b)~(iii), (c)-(), (d)-(ii)

Question Number : 48 Question Id : 8643515088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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eeflar - 1150 eedaor - 1 8° adddibhsn
wdor -1 wedloe - 1
(oo vESw) (&TE)
(a) oernl () SF>S
>
(b) EBH & Soedsw (i) DNAES
e/ o
(c) nrEESEs (iii) IOSHo
(d) (Ero8:B=b (iv) 2083
B
w&od KBS ASTFTTy dSnTod
] = [=8 [=N

Options :
86435115279, (@) (L), (b)-(iv), (c)-(iii), (d)-(1)

86435115280, @), (B)-(iv), (c)-(1), (d)-(iii)
26435115281, @k (1¥), (b)-(i), (c)-(u), (d)-(iii)

86435115282, (@)k(1v), (b)-(iti), (c)-(1), (d)-(ii)

Question Number : 49 Question Id : 8643515089 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A non-reducing sugar “A” hydrolyses to give two reducing mono saccharides. Sugar A is:
Options :

86435115283, Glucose
86435115284, Fructose
86435115285, Galactose

86435115286, Sucrose

Question Number : 49 Question Id : 8643515089 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

y =B o v
a8 Edhiden dﬁuw o) “':'u “A” mo DN Jod Do EchiEle FhHRnR) IrS FEOEenD

s [ s
2008, {SEL)IEJ' Add ?

Options :

86435115283. ™
86435115284. ~

86435115285.

86435115286, S

Question Number : 50 Question Id : 8643515090 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Reagent, I-naphthylamine and sulphanilic acid in acetic acid is used for the detection of :
Options :
86435115287, NO2

86435115288. il

86435115289, NO

N
86435115290. =

Question Number : 50 Question Id : 8643515090 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& B =1 £ — o
2,84 8%odt 1- E:Fqﬂafj B Hidfn Jndsesio R HenddE ehHoenTow. & seE8o B

KBODHOE ESDAPALE 7

Options :

86435115287, V2
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86435115288. B

86435115289, NO

¢l

86435115290. -~

Chemistry Section B
Section Id : 864351340
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351340
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643515091 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Complete combustion of 3 g of ethane gives x x 102 molecules of water. The value of x is

[Use : N, =6.023 x 10%3; Atomic masses inu : C:12.0;0:16.0 ; H: 1.0]

. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643515091 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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3go &8 D i SHododSHH 1x 102 vmde & KHEd. x Dend

[ &5d@rAotiol : N, =6.023 x 103; H85ren egroren (u o) C:12.0: 0:16.0: H : 1.0]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643515092 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AX is a covalent diatomic molecule where A and X are second row elements of periodic
table. Based on Molecular orbital theory, the bond order of AX is 2.5. The total number of
electrons in AX is . (Round off to the Nearest Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643515092 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AX 2.8 8808 En8areeans es) P0G A, X oo 883 SHGE Sois S0 (second row)

Sreseen. g aftrs drrodsn (Fetdn AX20gEdhdn 25. AXS° &) Indo Juae
o @

L=
oy . (FFTPol aare).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643515093 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

For the reaction
CHg — GH, +H,
the reaction enthalpy A H=__ k] mol 1. (Round off to the Nearest Integer).
[Given : Bond enthalpies in k] mol 1.C—-C:347. C=C:611:
C—H:414, H—-H : 436]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643515093 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

S8 Qogrd), AH= k] mol~ L. (zarenid &10 syrorosed 58 Bosnam).

[ 208 Qum‘:‘;@a}m k] mol-les® :C-C:347, C=C:611;

C-H:414, H-H : 436]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643515094 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
2 molal solution of a weak acid HA has a freezing point of 3.885°C. The degree of dissociation
of this acid is %1073, (Round off to the Nearest Integer).

[Given : Molal depression constant of water =1.85 K kg mol ;

Freezing point of pure water =0"C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 8643515094 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2.8 esmd e, HA, 2 3rerd 0rdna)) s0giad ko 3.885 °C. & esn) D50l ek

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643515095 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In order to prepare a buffer solution of pH 5.74, sodium acetate is added to acetic acid. If the
concentration of acelic acid in the buffer is 1.0 M, the concentration of sodium acetate in the
buffer is M. (Round off to the Nearest Integer).

[Given : pKa (acetic acid) =4.74]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643515095 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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f\

pH 5.74 o 2030 [mrdndnd d$drdh IcneD FEho IHEY D MBsHrlE 5O50.
258 & IDB=H rEE 1.0 Meand 295 &° PEoho VB mEd M. (areni

&K8 Froroseld $8 Deink).

[ 22iS8 : pKa (Qhdseano) =4.74]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643515096 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
2Fe’* (aq) + 21 ~(aq) — 2Fe?* (aq) + L,(s)
the magnitude of the standard molar free energy change,

[

A/G,,==___ k] (Round off to the Nearest Integer).
L-"Fﬁg *IFefs) 0.440 V ; LJFH*;FE{_-;}: 0.036 V
LI!JIEFEI - = 0539V ; F = 96500 C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643515096 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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2Fe’ *(aq) + 21 (aq) — 2Fe? * (aq) + I5(s) S8, (Dree Jeerd _:'JMZJ’: H8 ot H63res0,

(= ol
AGR=—___ kK (e &0 rorowls $0 Scins).
LJFE*,J’F (s) 0440 V; LJFe”,J‘Fe{:s}: 0.036 V
L-"’I2 fo1- = D239 ; F = 96500 C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643515097 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 NO(g) +Cly(g) = 2 NOCI(s)

This reaction was studied at — 10°C and the foﬂnwmg data was obtained

run [NOJ, [CL ], Iy
1 0.10 0.10 0.18
2 0.10 0.20 0.35
3 0.20 0.20 1.40

[NOJ, and [CL,], are the initial concentrations and 1, is the initial reaction rate.

The overall order of the reaction is . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643515097 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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2 NO(g) +CLy(g) — 2 NOCI(s)

& S0 —~10°C 5L HELDoA[HW |Bol derodsin wiotol.
. s &

\ESdogy  [NO], [CL], T,
(run)
1 0.10 0.10 0.18
2 0.10 0.20 0.35
3 0.20 0.20 1.40

[NOJ, s26d5» [Cly] o0 S5 NO 58cin O, © &Orrgde. 1y odd 38 & IO, 5%
Jndo (Bdorossin . (e3Pl S50

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643515098 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of unpaired electrons present in the complex K;[Cr(oxalate),] is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643515098 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Qo830 Ky[Cr(oxalate);] & ) Sw&o .00 (unpaired) @GE;EI © Jogy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 59 Question Id : 8643515099 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
grams of 3-Hydroxy propanal (MW =74) must be dehydrated to produce 7.8 g
of acrolein (MW =56) (C;H,0) if the percentage yield is 64. (Round off to the Nearest
Integer).

[Given : Atomic masses : C:12.0u, H:1.0 u, O :16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643515099 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Biowd T80 64 WD 7.8 g © wEDS (MW =56) (C;H,0) & Sroferds,

rEwe 33reed) deSaed (MW =74) (Hydroxy propanal) & E$orr ¢ dE8wmo

[:—:;,{:;:—:;&;3& : HESeean groren 1 C: 120w, H: 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643515100 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A reaction of 0.1 mole of Benzylamine with bromomethane gave 23 g of Benzyl trimethyl
ammonium bromide. The number of moles of bromomethane consumed in this reaction are

nx10~ 1, when n= . (Round off to the Nearest Integer).

[|Given : Atomic masses : C: 120 u, H:1.0u, N : 14.0 u, Br : 80.0 u]

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643515100 Question Type : SA

Correct Marks : 4 Wrong Marks :

&l

e oy TR TR on e B Al [
0.1 3rme & 2 O8O0 Yol ) | e

£ E K o L B o £ 4 S
B°DE AWEoh. & 3‘555:;’3“ AA@ZrACSDES |&°B Ee IS o Doz nx107! wond
n=___ (esaeencd &5M18 SyegrosRlE D8 Ddinsbo)
L L)

| i—::.;”:;:—::&;ﬁ& : HESrew groren 1 C:120u, H: 1.0 u, N : 14.0 u, Br: 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351341
5

Online
Mandatory
20

20

80

Yes

1
864351341
Yes

Question Number : 61 Question Id : 8643515101 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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If the functions are defined as f(x)= Jx and g(x) = 41 — x, then what is the common

domain of the following functions : f+g, f—g f/g. g/f g—f where

(f = D) =) = 36, (f/8)) = %

Options :

86435115301, 0 =1 <1
86435115302, U <x <1

86435115303.

86435115304, V<x =1

Question Number : 61 Question Id : 8643515101 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f,g [Hoasren f(x) = Jx and gx) =+1-x,3 5DE00S, Bob (HDdire @nE) &b

Sa%0: f+g, f-8 f/8 8/f 8~ f @& (= 8)x) =f(x) = g(x). (f/8)(x) = %
Options :

86435115301, 0 =1 <1
86435115302, 0 <x <1

86435115303.

86435115304, V<x =1

Question Number : 62 Question Id : 8643515102 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the equation a|z E b daz+az+d=10 represents a circle where a, d are real constants,

then which of the £ Gllowf_ng condition is correct ?

Options :
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86435115305, ' 2-ad =z 0andaeR

«/?—ad >0 and a ¢ R— {0}
86435115306.

2 .
86435115307, |@~ — ad =0

PR b
86435115308, @=0,a deR

Question Number : 62 Question Id : 8643515102 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

$5&86pmoalz +az+az +d=0 (85)€ a, d eo 75 %}D‘US‘@J w30 2.8 Sy ;@maé‘
|80 FAS® DB $BFTSE ?

Options :

86435115305, (@/7~ad = 0DandaeR

86435115306, | ~ad>0andacR-{0]

|

86435115307, @~ — ad=0

P b
86435115308, =0, a deR

Question Number : 63 Question Id : 8643515103 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| 0

3| and 2A - B =
1 [

I3 -2

let A+2B= If Tr(A) denotes the sum of all

o o =
LI LA
A L) |

e
—_

diagonal elements of the matrix A, then Tr(A) — Tr(B) has value equal to :
Options :
86435115309. 1

86435115310, 2
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86435115311, 3

86435115312, U

Question Number : 63 Question Id : 8643515103 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 2 0 2 -1 5

A+2B=| 6 —3 3| H0c50 2A-B={2 -1 6| 05808, & (A) 38 A 3
5 3.1 g 12

DEGoSE Swrosre Jnael) SrdR, erd(A) —erE(B) (e Tr(A) - Tr(B)) =

Options :

86435115309, 1
86435115310, 2
86435115311, 3

86435115312, ©

Question Number : 64 Question Id : 8643515104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let o, 3, v be the real roots of the equation, 2 +axZ+bx+c=0, (a, bce Rand a,b=0). If

the system of equations (in u, v, w) given by au+prv+yw=0; putyr+aw=0;

"o

e g T
vyu + av + pw =0 has non-trivial solution, then the value of o s

Options :

86435115313. 0

86435115314, 1

86435115315. 3

86435115316, 2
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Question Number : 64 Question Id : 8643515104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s B 72 ) a - L £
HabEBee0 x> +ax?+bx +c=0(a, b, c e Rand a, b # 0) @) 05 Soreren q, B, y 0HE0E.

(u, 0, w of) JoBere FHD aut pr+yw=0; u +yv+aw="0; yu+av+pw=05 T*HSE
] feind :
2
z a.z8 @ .

FeE &0l = Qo) Densd

Options :

0

86435115313.

86435115314, 1

86435115315, °

86435115316. 2

Question Number : 65 Question Id : 8643515105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of all the 4-digit distinct numbers that can be formed with the digits 1, 2, 2 and 3
is :

Options :
86435115317.

86435115318, 20664

86435115319, 122234

86435115320, 122664

Question Number : 65 Question Id : 8643515105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1,2 2 %6050 3 woBed® 535;3“ YY) 4ecsw 530&2%6 Swéo:

Options :

70/92



3/18/2021

86435115317.

86435115318, 26664

86435115319, 122234

86435115320, 122664

Question Number : 66 Question Id : 8643515106 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let (1+x+2x2)0=a +a,x+ax?+...+a,x0. Then, a;+az+a. +.... ha,- is equal to :
Options :
jl‘){j.?{] | -}1]
86435115321. — *© =
X} 20 4 »
86435115322, 2 (27 +21)
21‘3{22{] 21]
86435115323.
23]{22{] 21]
86435115324.

Question Number : 66 Question Id : 8643515106 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(1+x+ 2220 =a,+a;x +ax? +.... + a,0%0 @808, oHHh a;+az+ag+.... bags =
Options :

19,720
86435115321, 2 (& +21)

A X) 20 4 o
86435115322, 2 (27 +21)

219{22{] 21]
86435115323.

23]{22{]
86435115324.

o
i
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Question Number : 67 Question Id : 8643515107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_ 1
The value of 3 1 is equal to :
4 4
1
3 4 -
4 4
3+ ... 20
Options :
86435115325, 12 1 V3
,) J—
86435115326, 2 7 V3
2
86435115327, 3 T 23
: =
86435115328, + V3

Question Number : 67 Question Id : 8643515107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
3 4 { o) Dend:
4 4
1
3 4 :
4 4
34+ ... s
Options :
86435115325, 1= T3
B =
86435115326, 2 7 V3
2
86435115327, ° 243
: =
86435115328, + V3

Question Number : 68 Question Id : 8643515108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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S e - g it qtd I—Elisequalm:

Options :
25

01

ot

86435115329.

101
86435115330, *08
o
86435115331, 200

101

86435115332, 404

Question Number : 68 Question Id : 8643515108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
C s 1 1 1
. | 2 P T
3 -1 h* -1 7- =1 (201)

Options :

86435115329, 101

101
86435115330, 408
50
86435115331, 200

10

86435115332, 04

Question Number : 69 Question Id : 8643515109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If a, B are natural numbers such that 100%—1993 = (100)(100) + (99)(101) + (98)(102) 4
..... t(1)(199), then the slope of the line passing through (o, ) and origin is :
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Options :
86435115333, 210

86435115334, 230
86435115335, 240

86435115336, 220

Question Number : 69 Question Id : 8643515109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a, B ©d JSPe Sogpien 100%—-199B = (100)(100) +(99)(101) +(98)(102) + .....+ (1)(199),

&ﬁy@ué‘f Sredothy) S08csn(a, P) home N HBE3 Tren
Options :
86435115333, 210

86435115334, 230
86435115335, 540

86435115336, 290

Question Number : 70 Question Id : 8643515110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ 1
| — ; [ x| =1
If f(x)=4I% is differentiable at every point of the domain, then the values of

%
o + by |x)=1

a and b are respectively :

Options :

A
86435115337, 2 2
3

86435115338, 2 2
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5 3
86435115339, 2 2
1 3
86435115340, 2 2

Question Number : 70 Question Id : 8643515110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
i 1 )
| — lxl =1 : ’ i . ¥ :
f(x)= 4% @a (Dddho TPY (E8406°0) 10880y 838 wduddho vand
w ] o N}

taxz Fbh: |x|<1

a 508050 be DendSen XBGEre:

Options :

3 1

86435115337, = 2
i =
86435115338, 2 2
5 3
86435115339, 2 2
1 3
86435115340, 2 2

Question Number : 71 Question Id : 8643515111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cosec lx

The real valued function f(x) = ﬁ, where [x] denotes the greatest integer less than or
x - |x

equal to x, is defined for all x belonging to :

Options :

26435115341 all reals except integers
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26435115342, all reals except the interval [ -1, 1]

6435115343, all non-integers except the interval | —1, 1]

26435115344, 1l iIntegers except 0, —1,1

Question Number : 71 Question Id : 8643515111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

" RiE cosec X :
3, SIS Sorex: (Sehdbo fi(x) = GRS S0

15 e KOY Trorosed [x] Sedn = il Gy &
Qe} Sl =l [ J b —5 g = Jlr( ] Nm ) )
Options :
TPOROSPen 85 BN T8 PogRes
86435115341, T ROT o0 B Se)) B Noggot
1, 1] o803 &)y &) TP NoIxe
86435115342. [ ] R a kS e e
1, 1] wodom &3y o) Jrorosten 90 Sothade &
86435115343, S e =
0, -1, 1en &) o)) JPTPosPL &HE
86435115344, w = =

Question Number : 72 Question Id : 8643515112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. =] -1
1m SN X tan X

If i_ﬂ 0 is equal to L, then the value of (6L +1) is :
Options :

S
86435115345, ©

86435115346, ©

86435115347, 2

N||-—=-

86435115348.
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Question Number : 72 Question Id : 8643515112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

lim Sin Tx — tan x

: =L escod, (6L + 1) =
x—0 3 x.ﬁ !
Options :

4
86435115345, ©

86435115346, ©

86435115347, 2

5
5
86435115348. ~

Question Number : 73 Question Id : 8643515113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(2x — 1)cosy(2x — 1)

\..":’.sz

5
The integral _[ dx is equal to :

dx + 6

(where c is a constant of integration)

Options :

1
;sin\/{h I 'lj?‘ S ¢
86435115349. <

lsm '[{21' '1]2 F5 4+

86435115350, 2

1 .'
;cos«.J(Zx 1]2 e ol
86435115351. <

2

1
—cnsx.'ll(Zx 1) +5 +¢

86435115352, 2
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Question Number : 73 Question Id : 8643515113 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

I(zx 1)cos/(2x — 1) +5
Vix? —4x + 6

sl o om M Ml By o b
[E.bl_)rd c a5 aarrsen oros0)
o /

Options :

1
;Sin\/(h' I 1]2 D + ¢
86435115349. <

1
—sﬁ‘n\(I{Ex 1]2 2 e ol
86435115350.

. r
—cos4/(2x 'l]2 Fo+
86435115351, 2

1
—cc}s\}f{zx I 1]E 5 +cC
86435115352, 2

Question Number : 74 Question Id : 8643515114 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The differential equation satisfied by the system of parabolas y2=4a{x ta) is :

Options :

F{d—ﬂ ' h[d—ﬂ y=0
86435115353,  \dx) L dx )
F[d—ﬂ 'h{d—ﬂ y=0
86435115354, ¥/ \dx
;
= Rt
L"[d—yw l‘t{—y| Fy =0
dx
86435115355, 4/ dx )
2
86435115356, 94X/ \dx )
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Question Number : 74 Question Id : 8643515114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

EolopTSTevils Sfbsf.g yP=4a(x+a) 3 é“ﬁ'Lé‘_.Ea’;b'L'wa oS5es D80
Options :
' 2
l‘{d—ﬂ ' h{d—ﬂ y=0
86435115353, \dx) L dx )
y{d—ﬂ | El{d—ﬂ y=0
86435115354, ¥/ \dx )
;
dy s
H[—yw l‘t{—y| Fy =0
86435115355, X/ dx )
2
F(ﬂw Exfd—ﬂ y=0
86435115356, 9%/ \dx

Question Number : 75 Question Id : 8643515115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement about two circles whose equations are given below :
x2+y?—10x— 10y +41=0

x? +y%—-22x - 10y +137=0

Options :

86435115357, Circles have two meeting points

86435115358, circles have no meeting point

26435115359, circles have only one meeting point

86435115360. circles have same centre

Question Number : 75 Question Id : 8643515115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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U3,

Bods 15"&%& DnESeren Ko Botd T Do0HHow VOIS (RHSTY) NS ok
x2+y2—10x— 10y +41=0

x2+y?—22x— 10y +137=0

Options :

s6435115357 DTe0 Boh BothHE: Sesdon

&

86435115358.

86435115359.

Sere Bomren HErS0
86435115360, = —=

Question Number : 76 Question Id : 8643515116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the four circles M, N, O and P, following four equations are given :

Circle M : x>+ %=1

Circle N : x*+ yz 2x=0

Circle O : 22 +y?2—2x—2y+1=0

Circle P : x2+ yz 2y=0

If the centre of circle M is joined with centre of the circle N, further centre of circle N is joined

with centre of the circle O, centre of circle O is joined with the centre of circle P and lastly,
centre of circle P is joined with centre of circle M, then these lines form the sides of a :

Options :

86435115361, Rectangle

86435115362, Rhombus

86435115363, >duare

86435115364, | arallelogram

Question Number : 76 Question Id : 8643515116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Teep Syaren M, N, O 586k P o 3088emen (Bod sdmasd
a”:‘;gfo M : x? }y2=1
o N : x2+y2—2x=0
$800 : x?+y*—2x -2y +1=0
$EoP : ¥ +y*—2y=0

Qo M @) a@@?&* nEo N Gog) So|Bo8®,

SHFoN @) Sord) Hdo O Bn¥) SoEod’,
[ T B

$HFo O @) SoerY Hgo P By SolFod’,
el E B/ (&)

Eo M Gng) SolBod,

L_l:

o P Go¥) a@@ﬁ)ﬂl

nt
o)
Zendrr $T) Open gherore RO a8

Options :

8558550
86435115361. ==

sty o
86435115362. o

86435115363, D000

SEPOBS Sdrtiyec
86435115364, 0 OF Speo

Question Number : 77 Question Id : 8643515117 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The number of integral values of m so that the abscissa of point of intersection of lines

3x+4y=9 and y=mx +1 is also an integer, is :
Options :

86435115365, U

86435115366, |

86435115367, 2
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86435115368,

Question Number : 77 Question Id : 8643515117 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i s

3x+4y=9 200¢w y=mx+ 1 Bpe ol Dohd cﬁné@ Y-850 a8 rorolo edd

TJTFOTEL MO ROP;:
Options :
86435115365, U

86435115366.

2

86435115367.

86435115368,

Question Number : 78 Question Id : 8643515118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The equation of one of the straight lines which passes through the point (1, 3) and makes an

angle tan ' (y2) with the straight line, ¥ + 1= 3.J2 x 6
Options :

f B
86435115369, 4¥2 x +5y — (15+442) =0

2% f 5) =
86435115370. 42x -5y (5+442) =0

e6435115371. OV2 X +4y — (15 +442) =0

b1
I
=

86435115372, 4V2 X + 5y — 4y

Question Number : 78 Question Id : 8643515118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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P

5688 ¥ +1=3v2x & tan"1(V2) BP0 Tr DoHD (1, 3) ore G $8¢Cee a5

— = ey
S EAE=te T To )
Options :

= i i B
86435115369, 42 x +5y — (15 +42) =0

2 x ( 2) =
sea3siisyzo, V2 x 5y~ 5+ 472) =0

86435115371. 5v2x +4y — (15 + 442) =0

86435115372, B2 x +5y —4/2=0

Question Number : 79 Question Id : 8643515119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solutions of the equation

st . D .
1+sin"x sin"x sin”x
2 2 2
cos’x 1+ cos“x cos“x| =0,(0<x <), are :
4 sin2x 4sin2x 1+ 4 sin2x

Options :

86435115373. 6 6

86435115374, 12 12

?_Tr 11+
86435115375, 12 12

m o
86435115376, 12 ©

Question Number : 79 Question Id : 8643515119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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2

2. i -

1+ smn“x SIN°X s1in

cos?x 1 + cosZx cost x| = 0,(0<x <) S585mo @ aPiSSen :
[

4 sin?y 4s8in2y 1 + 4 sin2y

£,

o)

Options :

a b
86435115373. 6 6

57 Y1
86435115374, 12 1

7w 1l
86435115375, 12 12

i1 a0
86435115376, 12 ©

Question Number : 80 Question Id : 8643515120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—
A vector a has components 3p and 1 with respect to a rectangular cartesian system. This

system is rotated through a certain angle about the origin in the counter clockwise sense. If,
with respect to new system, : has components p +1 and .m, then a value of p is
equal to :

Options :

86435115377, 1

86435115378, 1

4
86435115379. 5

5
86435115380, *

Question Number : 80 Question Id : 8643515120 Question Type : MCQ Option Shuffling : Yes Is
84/92
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

al

-
i~
L T T B T e e T el e ’ - A PO i e 4 3l ol sl vy B i
008 JEENE nd” as wBd a OnE) woden Ipanddmd 1 en. & EVIENTS NS saredlothsy
: G [& € fi]

go . areh . . ef T N R SO E RO e

oote B od8 o8 wdldhdd® ihaodnd. B¢ okt fi%
2 = = a8 g e

Options :
86435115377, 1

86435115378, 1

4

86435115379,
5
86435115380, *
Mathematics Section B

Section Id : 864351342
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351342
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643515121 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

—%
a

GBE) wodw p+1500cin

Let z,, z, be the roots of the equation z2+az+12=0 and z,, z, form an equilateral triangle
1 22 q 1- 22 q &

with origin. Then, the value of ja| is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 81 Question Id : 8643515121 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ss : F0E & ) s -
Nab88ga0 z¢+az+12=0 % Nreren Zy, Zy 05808, Hredotds EE‘" e Zq, Zp €0 2.8
Hboers B2y m |a| Eng Dend

"' [=Wr-% —D T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643515122 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f(x) and g(x) be two functions satisfying f(x%) +g(4 —x) =4x" and g(4 — x) + g(x) =0, then

4
the value of I fix :fh B o
-4
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 82 Question Id : 8643515122 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

£l

f(a%) +g(4—x) =423 05w g(4—x) +g(x)=0 o &RN06:

4
oiosfol. 09D [ f(x')dr @) Dends
—4
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 83 Question Id : 8643515123 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
. 3 r '[".l .
bx” +7x .
If f(x)= _[ - — dx, (x = 0), f(0)=0 and f(y = i_, then the value of K is
(x2 +1+2x7) K

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643515123 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3 -;_nf‘_ln
() = J‘ Y +7x

> dx, (x = 0), f(0)=0 05» f(1)= =
(x2 +1+27) K

e Z P — Y 4 [ 4 WYy
, @008, K @ng) Dend

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643515124 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A square ABCD has all its vertices on the curve xzyz =1. The midpoin’r_q of its sides also lie on

the same curve. Then, the square of area of ABCD is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
87/92
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Possible Answers :

100

Question Number : 84 Question Id : 8643515124 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n M Ml e A TCTY ey o0 h Brroetn L aederd — n e e T W M DL N e

a8 S&dHo ABCD Ging) el duren o xy =13 eamow.ghere iy dothen Eroe
- [ 3 [= % Ly = — [N o

I LT ¥ i e Ty = ot pizt

38 JBop &IoL. v ABCD Gwg) Jsceo o =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643515125 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let the plane ax + by +cz +d =0 bisect the line joining the points (4, —3, 1) and (2 5) at

¥ 3:‘
the right angles. If a, b, ¢, d are integers, then the minimum value of {a3 Fb2+ 2 dz] is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643515125 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

oy

ax+by+cz+d=0 o5 deo dothaden (4, —3, 1) s0Ba™ (2, 3, —5) & 405 Ogp POTPRY

y s <. - - . . " —— o o 2 ?) ) s
00 JD&Pold ool a b, ¢, d e Frorosread (a+ b2+ 2+ d?) BnE) SV

Y e
ol ol

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 86 Question Id : 8643515126 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equation of the planes parallel to the plane x — 2y + 2z~ 3 =0 which are at unit distance
from the point (1, 2, 3)isax+ by + cz+d=0. If (b —d)=K(c— a), then the positive value of K
15 o

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643515126 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x—2y+2z-3=0 8erd8 SSrodbore ot ot (1,2, 3) Dol 2.8 dharded Srdod® o

Soo H&88w0 ax +by+cz+d=0. (b—d)=K(c—a) wond, K G¥) §F Dend
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643515127 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The mean age of 25 teachers in a school is 40 years. A teacher retires at the age of 60 years
and a new teacher is appointed in his place. If the mean age of the teachers in this school

now is 39 years, then the age (in years) of the newly appointed teacher is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 87 Question Id : 8643515127 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

% e D 25 Hod & m‘fﬂmg Qe a5y 40 DSoddoren. a8 &arTRing 60

& o . St B Lol g L et T A T e A RS
QoS T Doterod® HBE EHe BoSre wdd JSod’ o8 § & &argriintd JdDILoDRER.
i

B @ FETOE ergydhoe St Hdbdy) 39 Joddren wand TET JSHEES

=

LRI HaHy) (Sod ored”)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643515128 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of times the digit 3 will be written when listing the integers from 1 to 1000 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643515128 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

‘“’L

1 Hhod 1000 8% e “;'I\.Jau'f._.-nl:l T 35&3. FES” 3 A ordhal &otwod elne

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 89 Question Id : 8643515129 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The missing, value in the [ oIIowing figurr_- is

1 / | PR 5 I'.
| { | |
| I | |
\ 4 24 ] {
'- 12 4 3 /'f 4

\ 8 7 Y
N, g

Response Type : Numeric
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The number of solutions of the equation |cotr| = cotx + —— in the interval [0, 27] is
sinx
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